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CLA-LCULATUZQ MAY RE USED 1id THIS cpTRGORY

THE ENDS OF THIS RIGHT PRISM apg TRAPEZOIDS
IF BC=06.2, FeE=8.5  BG=Ill.4 AND

D= 3,{) WHAT 1S THE VYOoLUME OF THE PRISM |

2. The VoluMme ofF A PYRAMID 1S 3!2@.‘5?’5?(‘,,5"“3“
WHAT IS THE VoluME oF A PRISM  WITH TRE
SAME  SIZE BASE AND Tde SAME HE\GWT?

3. How MANMY GALLONS OF PAINT ARE NeEEDED
To PAINT THE ENTIRE INSIDE OF A CLOSED
CYLINDRICAL. STORAGE TANK. THAT s 47 FeeT
HieH AfD FAS A DIAMETER. oF 23 EeeTS

OME GALLON OF PAINT CoviERrsS 450 Q. FT.
LUSE Z. /4 FOR T7. GIVE YouR, ANSWER. TO THE
NEAPEST TENTH oF A GALLOM .
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MYSTERY 2. hr.
MARCH 29,1990 3

{ THE. SUM OF Two NUMBERS: IS [0 AND THEIR
DIFEERENCE 1S 5. WhaT 1S Thelk PRODUCT 2

2. Sy BoRsSES EAT  SIX BALES oF HAY
IN SIX HOORS . AT THE SAME RATE, HOW

| NG witl. THREE BALES oF BAY LAST
FoR THREE HORSES ¢

2 MULTIPLY A NUMBER BY 1000 AND
ADD 5. THE RKeEsUuur 1S £ WHRAT

WNAS THE ORIGINAL. NUMRBRER K
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MarcH 29,1990 2.

BeRTHA'S
BUDGET

TF BERTUAS ANNUAL INCOME IS $32;4-O_<D,
How Much MoNEY WwWiLL., QUE SPEND
ON FoopD 7

2 WHEN RoLuile Two DICE NUMBERED FROM
ONE TO SIX, WRAT IS THE PROBARBILITY OF

RoLLiNG DouRLES (For ExAMPLE: |1 or 2,2 a3 3
EXPRESS YouR ANSWER IN ERACNON [FoRm.

3 5 MARBLES ARE DRAWN FRoM A BAG CoNTMNING
3RED 4GREEN AND 5 YELLOW MARRBLES. AS
EACH MARRBLE 1S DRAWN 1T IS NOT RETURNED
TO THE BAG. WHAT S TuE  PROBABRILITY
THAT THE FEiRST MARRLE DRAW AN S PeED
THE SECOND 1S GREEN AND The mnz::)},g
YELL.OW 7 EXPRESS VYourr ANSWER. AS

A SINGLE FRACTION.
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/. FACTOR : %,2’-!”5 x,—[ &

2 TUE SuM oF THE SQUARES OF TWO
FONSECUTIVE POS/TIVE INTEGERS 15 4.

CIND  THE INTEGERS.

(D4 bEE D q(t+3)

2
3. FACTDR cOMPLETELY: i (‘f’
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4. D=
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CWHAT 1S THE MAX | MUM  NU MReR. OF PDINT.S FoRMEE
Y THE I NTERL.SECDN oE SIX STRAIGHT L NES ¢

' THe LENGTH OF EACH Sipe OF A SeANLENE TR ANGHLE"
(s A PRIME NUMBER. IT5 PERIMETER. 1S ALSO

PrRimme - FIND THE SMALLEST PoSS IRUE
PER|METER. THIS TRIANGE COuLD BAVE .

3 WHAT, LOWEST TERM FRACTION LS exACT Y

IN THE MIDDLE OF % AND @‘ZH@
1 weaT e
I WHAT NOMBER. 1S 1IN THE UNITS DieiT of 4 ¢

} B . ’

TE S5OSO I1s e oot TErRM 1IN THE e EUENCE

oF TRIANGULAR NUMRERS WHAT 1S THE
FALVST TERM ¢
6 SolLve FoR F

4 \[,.., A+ED)+ (a){—cﬁ:) 4 B¥ =
a |

——

e
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S ;CD ,l (OD... ARE CALLED TRIANGULAR. NUMBERS .
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